Uniform Circular Motion Practice Name:

1. Aballis being swung in a counterclockwise circle connected to
a string, at the top of the circle the string is released, show
what direction the ball will move after being released.

2. A 2.3 kgobjectis travelling at a constant velocity around a circle of radius 0.66 metres. It

completes 52 circles per second.

What is the frequency of the object?
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b. What is the period?
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¢. What is the speed of the object?
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d. What is the centipedal acceleration of the object?
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3. A 550 kg plane flies in a circle of radius 250 metres at a constant velocity of 255 m/s.
a. What is the period?

T.'me, 4’0 COM(IJLQ 1 C‘if‘c(e
L d _ amr(sm

o m——

- ;«) m - G-IQSGC

b. What is the frequency?
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c. What is the centipedal acceleration of the object?
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d. What is the centipedal force acting on the object?
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4. A 0.25m long string can withstand of a force of 23 N before breaking. If a 0.50 kg mass is put on
the end of the string and it is swung around in a horizontal circle what is the maximum speed it
can be swung before the string breaks?
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5. Acaristurning a corner of radius 85m at a constant speed of 26 m/s.
a. What is the centripetal force acting on the car?

g
F. = 1500 X§>—§~é) = 11921N
Sm

b.  What is the minimum coefficient of friction that will allow this to happen?
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6. A%ar is turning a corner of radius 122 m, the coefficient of friction between the car are the
ground is 0.27. What is the maximum speed it can safely round the corner?
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7. A 1.2 kg ball is swung in a horizontal circle of radius 0.45 metres. The force on the string is 46 N.
At one point the ball is released. How fast will the ball be moving when it is released?

~ 2
FL"’V“/- % F;_x(‘

r e

=8




